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Biological Keys 

 

In the example shown, each 

Organism can be identified 

using the paired statement 

key.  

For organism (a) 

Start at statement 1: it does 

not have legs so follow the 

instruction ‘go to 2’. 

Statement 2: its body is not 

divided into sections so 

follow the instruction ‘go to 

3’ 

Statement 3: its body is 

‘worm-like’ so (a) is a 

Nematode worm. 
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To construct a ‘paired statement key’ it’s a little trickier. 

Example: 

In this example, the information in 

the table must be used to 

complete the paired statement 

key. 

Statement 1 should have 2 ‘go 

to…’ statements. 

  

  

Flower colour is not yellow must 

have the instruction ‘go to  3’ 

since Ragwort is in statement 2 

and Ragwort is yellow (seen in 

table). 

  

Since we have worked out 

statement 2 is for identifying 

Yellow flowers and Ragwort  is 

already given, it is easy to work 

out the remaining yellow flower 

must be ‘Buttercup’. We can 

check this is correct by making 

sure its height is under 100cm 

(which it is : 5 – 90cm). 

  

  

Statement 3 identifies the ‘non yellow’ flowers. Meadow Grass is already given 

so the only other non-yellow flower is ‘Pink Campion’. 
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